L =X BRiER

10 - 20 - 30 - 40X DER SM5%E9H23H
E | = % ouT IN |TtoTaL| HDcP | NET
B B MEEEH 45 43 88 15.6 72.4
sEm B B 37 39 76 2.4 73.6
3 fir| /NE S 43 39 82 8.4 73.6
4 | LpgfER 51 44 95 20.4 74.6
5 fir| HEEA 55 50 105 30 75
B-B| =fEE 62 71 133 36 97

50iZ L DEB
E | = % ouT IN |TtoTaL| HDCcP | NET
& | #HEtm= 41 39 80 10.8 69.2
#Em EE Rt 41 44 85 12 73
3 | BEA 43 41 84 10.8 73.2
4 f| HEH#H 42 47 89 15.6 73.4
5 fi| [LHEfE= 48 47 95 21.6 73.4
B-B| EOEZE 62 55 117 28.8 88.2

60iZILDER
E | = % ouT IN |TtoTaL| HDCcP | NET
B B ax#H— 40 40 80 9.6 70.4
EE AR 41 45 86 14.4 71.6
3 fi| fEkEH 50 47 97 25.2 71.8
4 fi| T e 48 50 98 25.2 72.8
5 fii| %AHE #h 42 38 80 6 74
B-B| it#F 52 58 110 31.2 78.8
70 - 80X DER
E | = % ouT IN |TtoTaL| HDCcP | NET
| tEK R 40 45 85 14.4 70.6
Em AT & 44 42 86 14.4 71.6
3 fi| HEER FHHA 41 45 86 14.4 71.6
4 fi| I RB 45 41 86 13.2 72.8
5 fir| wHHE BRI 37 41 78 4.8 73.2
B-B| #IliEA 58 66 124 36 88



